8. Trigonométrie

cos(3) = —¥3 sin(3F) = 1, tan(3F) = —%.
cos(F) = =2 sin(7F) = -1, tan(7F) = %
cos(2) =0, sin(%F) = —1, tan(%F) = indéfinie.
cos(%) = —3, sin(4) = =%, tan(%) = V3.

)

= 2 .
—5;271’) — _737 tan( —5;271') — \/g
s

) =0, sin(5") = —1, tan(=5") = indéfinie.
cos(ZF) =0, sin(Z) = —1, tan(3F) = indéfinie
cos(2F) = —§7 sin(28) = §7 tan(2F) =1

+ 4m) = sin(x), cos(xz + 47) = cos(x).
x

sin(—z — 127) = —sin(z), cos(—z — 127) = cos(x).
sin(§ + x) = cos(x), cos(§ + x) = —sin(x)
: 3271' S ) 3m
cos(%) = 51/ (2+V2), sin(§) = 31/ (2 — V?2) tan(g) = v2 -1

-

. cos(m — x) = cos(m) cos(z) + sin(w) sin(x) = — cos(z).

sin(m — x) = sin(7) cos(x) — sin(x) cos(m) = sin(z).

. cos(a + b) + cos(a — b) = cos(a) cos(b) — sin(a) sin(b) + cos(a) cos(b) +
sin(a) sin(b) = 2 cos(a) cos(b).

cos(a — b) — cos(a + b) = cos(a) cos(b) + sin(a) sin(b) — cos(a) cos(b) +
sin(a) sin(b) = 2sin(a) sin(b).

sin(a + b) + sin(a — b) = sin(a) cos(b) + sin(b) cos(a) + sin(a) cos(b) —
sin(b) cos(a) = 2sin(a) cos(b).



2 cos(EE9) sin(252) = cos(ZELEE=1) 4 cos( B LET) = cos(p) + cos(q)
2sin(2E9) sin(251) = cos(PRGEEL) — cos(PFLEE=1) = cos(q) — cos(p)
2sin(2E9) cos(254) = sin(ZELEL=) 4 sin(EHPH) = sin(p) + sin(q)

2 cos(EE0) sin(251) = sin(E=4EEED) 4 sin(2=172=1) = sin(p) — sin(q)
cos(x)+sin(x) = cos(x) —cos(z+ %) = —2sin(z+ 7 ) sin(—7F) = v2sin(z+
1)-

co)s(a:)—sin(x) = cos(z)+cos(x+F) = 2cos(§) cos(x+7F) = /(2) cos(x+
Z .

cos(z — F) = cos(z) cos(F) + sin(z) sin(F) = 3 (cos(z) + v/3sin(z))

cos(z + %) = cos(z) cos(F) — sin(z) sin(%) = §(cos(z) — v3sin(z))
cos(z) = —@, v = %[2n], x = —%[27]. Dans | —m;7]: § et —%.

sin(z) = 3, . = [2n], 2 = 3 [2n]. Dans | — m;71]: & et 3F.

tan(z) = —1, x = Z[r]. Dans | — m;7]: T et —3F

sin(2z) = v/3, ensemble vide.

(ic;s(Qa:—i— *) =3, 2= &[], v = —TZ[n]. Dans | — m;7]: 5, — BT, —T% et
24

cos(2 4+ %) =cos(% — %), v = —3F[127] ou z = —%[2].Dans | — m; 7]
—3T ot — .

2cos?(z) 4 cos(z) — 1 = 0, cos(z) = —1 ou cos(z) = 3, soit z = —[27] ou
r = %27 ou x = —F[27].

cos(z) = sin(2L), cos(z) = cos(§ — &), z = 3%[%] ou & = — 27 [67]
cos(4x) + sin(2z) = 0, ou encore cos(4x) = cos(§ + 2z), ce qui donne
r = Frlour =—-F[5]

cos(x) + sin(x) = ?, soit sin(z 4 %) = 2—‘\//%, pas de valeur remarquable.
V3 cos(z) + sin(z) = 1, donne cos(% — z) = %, ce qui donne z = —Z[27]

ou x = Z[27].



